10002

o

2522 — 2482 °
@ 62500 @ 1000 3)500
1
@ 250 ® 3
10002 1000 - 1000

2522 — 2482 (252 + 248)(252 — 248)
_ 1000 1000
500 4
=500




2. 2012 =k=t & o, 2013 x 2011 S k = JERHH?

@ k% +k @k2—1 @ K+k+1
@ K-k+1 ® k2 -k

2013 x 2011 = (k + 1)(k — 1)
—Kk2-1




19993 + 1

o) 1o
1998><1999+14 we

a = 19992t 5FH
1998 x1999+ 1= (a-1a+1=a?-a+1
. 19993 +1 a®+1
T 1998x 1999+ 1 a?—a+1
(a+1)(a —a+1)
- 2-—a+1
:a+1=2000




20073 - 1
4, L _ojgrer
2007 x 2008 +- 1 o &

@® 2004 @ 2005 @2006 @ 2007 ® 2008

B

2007 = a2 E1
ol 412 o] Hjgt Ao s
a®-1 at-1
ala+1)+1 T a2fa+l
(a—1)(a®>+a+1)
B a?+a+1
=a—-1=2007—-1 = 2006




5. (12

(1

- 2%)+ (32 -42) + (52 = 6%) + - + (92 - 10?) & F5H?

22) 4 (32 = 42) + (52 = 62) +--- + (92 - 10?)
(1 2)(1+2)+(3-4)3+4)+ (5-6)(5+6)+
+ (9 - 10)(9 + 10)
-1+2+3+4+---+9+10)
-55




19993 — 1

L9921 o ety
1000 x 2000 7 1 = Vet

@® 1920 @ 1909 @1998 @ 1892 ® 2000

B

x=1999 2} o}H,
19993 — 1 x2-1
1999x 2000 +1  x(x+1)+1
(x=1)(x%+x+1)
B X2+ x+1
==
= 1998




20103 -1
2010 x 2011 +1

® 2007 @ 2008

@ 20010 ® 2011

~&B

of grg Fohm?

@)2009

a=2010 2 €99

3
Fay-_—9-1
ala+1)+1
_(a-1)(a*+a+1)
- a?+a+1
= 2009

N




20023 — 1

o] 7Fo 151 M9
2002 x 2003 £ 1 ) & o

® 1999 @ 2000 (52)2001

@ 2002

® 2003

B

a = 20022 x|gstH
a’-1 (a-1)(@®>+a+1)

a(a~|—1)+1: a?+a+1
© 2002 -1 = 2001




20123 + 8

o] 7+ 09
2012><2010+4“] et

D 2010 @ 2011 ® 2012 @ 2013 @2014

B

a = 20122} X2k},
20123 + 8 a® + 23
2012x2010+4 ax(a-2)+4
(a+2)(a®-2a+4)
a2 —-2a+4
= 2012 + 2
= 2014




10.

HS—1 e
_1_1—4%1“5:%5}@?

112(112 + 1)

O 119 @)120 ® 121

@ 122

® 123

(112)2 + (112) + 1
(112 = 1){(11%)2 + (11%) + 1}
(112)2 + (112) + 1
=112-1=(11+1)(11-1) =120




20043 — 20033 — 1 _
11. o] k& H5HH?
2003 x 2004 ) W& T

2003 = x 2 7 2004 = x + 1

(x+1)32-x-1
x(x+1)

_ 3x(x+1) _3
x(x+1)

(& 4) =




12, 102 -9 + 82— 72 4+ 62— 5% + 42 — 32 + 22 — 12 9] 2 Foh?

@ 51 @ 52 ® 53 @ 54 (@)55

(10-9)(10+9)+ (8=7)(8+7) + (6 —5)(6 + 5)
+(4-3)4+3)+(2-1)(2+1)
=10+9+8+7+6+5+4+3+2+1=55




20061 o o oo
< F5HHE?
2006 x 2007 11 ) o= ot

@2005 @ 2006 ® 2007 @ 2008 ® 2009
a=2006 2 O™
(ZA]) = at-1 :(a—l)(a2+a+1)
ala+1)+1 a?+a+1

=a-1=2005




19992 + 1
14—~ o] gre?
1999 - 1998 + 1 A

® 1997 @ 1998 @ 1999 @200 ® 2001

B

1999 = xet Fo ™
(& A = X +1 _(x+1)(x -x+1)
x(x=1)+1 xX2—-x+1

=x+1=1999 + 1 = 2000

N




1003 — 1 _
o] ZFe 1519
01 100 11 ) #k= 7ot

@99 @100 ®101 @102 O 103

B

a = 100°]2}t o}H
-1  (a-1)(a®>+a+1)

(a+la+1  (a®+a+1)
=a-1=99




16.

20123 + 1
2012 x 2011 +1

> E.

> mer; 2007

1006

o &g azt @, Lol ke ool

B

(2012 + 1)(20122 — 2012 + 1)

(20122 — 2012 + 1)
=20130]2%
a+1 2013+1 2014

1007

a—-1 2013-1 2012

~ 1006




17. 11-133+433-1324+33-13+ 119 Q17 ofd AL 1297

@3 @ 7 ®11 @u O 2

~&B

11=a, 13 =5 2} 3}4
a-b®+3ab® +3ab+a
=a(b®+3b%> +3b+1)
=alb+1)3=11-143
=11x22x73




940 _ 935 _ 95 | | =
18. 1 3k Ffelet

Ch "
[= )

>
> ™et: 31

~&B

25 = x2t FH¥
240_235_25+1 _xs—x7—x+1
935 _ 1 B xT=1

_ (x—l)(x7_]-)
=] X —1
:x—1:25_1:31




8993 + 1

899 x 898 + 1

@27

@ 2574 ® 2174

@ 1874

® 1570

B

(Z4) =

a = 899 &t 2| g5

a®+1

ala-1)+1

(a+1)(a*>—a+1)

a?-a+1

=a+1=900
900 = 22 x 32 x 52
9009 k50 A4 = (24 1) x

=27

2+1)x

(24+1)




20. QIFES] T4 @ + b3 = (a+ b)(a® -
99993 + 1

77 T S AAS
9998 X 9999 + 1 = Aietoier.

> E

> ®eh 10000

B

ab + b?) L o]&5}o]

9999 — ¢ 2} s
9999* +1 aP+1
9998 x 9999 +1  (a—1l)a+1
B (a+1)(a®>-a+1)
N a?-a+1
=a-+ 1= 10000




i

21. 1983 + 2003 + 2023 — 3- 198 - 200 - 2022 7hhs] 5}H?

@® 6800 @ 7000 @7200 @ 7400 ® 7600

~&B

198 = x, 200 = y, 202 = z 2} 5}H

1983 42003 + 2023 — 3 - 198 - 200 - 202
=3 +y3+22-3xyz

=(x+y+2) (2 +y2+ 22— xy—yz—2zx)

=%(X+y+1){(x—y)2 + -2+ (z-x?%

= 1 X 600 x 24
2
= 7200




